wEE TR KF

i ol ik 120 44
Fesl — |Z | = /g H O~ |t | A e ix
S
L EWER: WB: 2 ARBIE Ju A, W2 100 4
HE % 28 4 (LR
— HTE (ENE A4S, £324)
THOOLZ: k(k +l)}

2. B y(x) = (e ~1)(e” -2)--(e™ —n), My'(0)=

3. B (x) = xe™ HIBAIEWR/D X ) 2

4 REHE (O, BT H@dt=x, ()=

5. %%Rﬁ:}j_;; (x+|sinx|)?dx F{E =
6. %y = [ tantdt (st%) I s =

7.%a=(212),b=(4 -1 10),c=b-4ia Halc, WA=

&ﬁ%%y=ﬁ5wﬂﬁ@>mm@&%ﬁﬁ%§ﬁ%=
. BIGEES (B/E45, Hi124D

xsm1 Xx=0
X2 = ( )

1.7Ex =04k, BR¥ f(x)=
0, x=0

(A) WBAFAE; (B) RIRAEMEARNES; (O ELEATS; (D) TH.
2. BERH f (X) 76 x = x, WIS RAE, W ( ) .

(A) £'(x,) =03 (B) "(x,) <03

(C) f'(x,) =08 f'(x,) AFEFE; (D) f'(x,) AIFHE.



J\.

- (85 WHIREEL f(x) = lim

A (85 HETERS [(

3. MU [ x-1]dx = ) .

1. S .
(A) 5 (B) 5 ©) 1 ; (D) 2.

(84 RiEAHWLD)EEHELx-1= y+3=2—3*['x7+1= szrz =1

AT BT TR

X b, EATIN A, HIBIHAR,

1_
X+e™

(84%) -‘&y:y(x)%lﬁhﬁﬂX:J‘; ﬁfﬁ%%@%@ *3;3
+

sarctan x

1+ x?

+ Xsin xcos x)dx.

(843> A X" +(y-a)* =16 (a > 4) B #9111 B TR 58 x Bl e T
SAREIAEFR A 16027, K a A,

(84 BEEM(a,b)EEL, SHARMBIK =/, KE=AF
HRRMIELTE (BE4a>0b>0) .

(843 ¥ f(x)ZE[0, 3] B3&ELE, 7E(0, WHF, Hf(O)+f@)+f(2)=3,
f(3)=1. iFHH: FFAER (0, 3), B /(&) =0.



